
SHL301K2-G/K

Please read this manual carefully before use and store in a safe place.

Assembly Instructions

SHL300K2-G/K



Assembly note:

Contact Dams if you require any further

assistance.

At least two people are required.

Use a protective mat and handle the product

with care.

Note:

2 3

1



1

23

4

5

6

7

headrest

backrest

back frame

seat

armrest

gas lift

five-star base

caster

No.
Name

Pcs

mechanism

9

8

Exploded

diagram:

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
3

AutoCAD SHX Text
4

AutoCAD SHX Text
5

AutoCAD SHX Text
6

AutoCAD SHX Text
7

AutoCAD SHX Text
8

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
5

AutoCAD SHX Text
9

AutoCAD SHX Text
1



Accessory list:

hex

half-round

head screws

2

φ6

spring

gasket

gasket

2

φ6

2

cap

1/4*3/2

6

internal/external

hex screw

3M8*20

three-in-one

internal/external

hex screw

14#

 Allen key

with round ball

15#

 Allen key

with round ball

A B

DC

E F

G H

NOTE: Two of these screws

pre-installed on the headrest when

ordered (supplied in a separate box)

AutoCAD SHX Text
4

AutoCAD SHX Text
M6*20



1

(X2)
DC

A*2

B*2

C*2

D*2

 M6*20
(X2)

A
(X2)

B
(X2)

3

2

B

A

C

1. Use half-round head hex screw, spring gaskets and gaskets to assemble the backrest

and back frame.

snap the backrest into the slot of back frame

fix the back frame and backrest's adjuster with the

back frame

AutoCAD SHX Text
φ6 

AutoCAD SHX Text
φ6 



2

 1/4*3/2(X6)E

4

5

9

E*3

E*3

1. Use internal/external hex screws to fix the seat and armrest.



3
F*3

4

5

2
3

9

 M8*20(X3)F

1. Use three-in-one internal/external hex screws to fix the fully-assembled back with the seat.



4
2

5

4

3

9

7

8

6

1. Align the castors with the holes of five-star base. Put the gas lift into the round

holes of five-star base.



5

A*2

 M6*20
(X2)

A

2

1

1. First loosen two screws pre installed on the headrest,and then use hex half-round-head

screws to fix the headrest.

NOTE:Headrest is supplied in a separate box.



Done！



1 2

4

Function introduction:

1. Lumbar and headrest adjustment

The adjustable lumbar support can be moved backward

and forward for increased comfort to better support

your back.

Forward: grasp the two lower ends of back frame with

your hands and lift it to appropriate position. Reset:

grasp the two lower ends of back frame with your

hands,lift it to the highest position, then pull it down to

reset.

The headrest can be adjusted up and down and rotated.

2. 4D adjustable arms
4D adjustable arms can be moved up and down, to 
the left and right, forward and backward, and 
rotated.

3.Seat height adjustment

Leave the seat and lift the lever to raise the seat to the

appropriate height.

Without leaving the seat,lift the lever to lower the seat.

4.Tilt lock/seat depth adjustment

Lift the lever to adjust to an appropriate tilting degree,

then push down the lever to lock.

The back is lockable in 4 positions.

Lift the lever to adjust to a comfortable seat depth,

snap the lever into the slot , there are five levels of

seat depths to choose.

AutoCAD SHX Text
3


	图纸和视图
	模型




